2B A BB 7A

B H: 406128 12H - AN )
OUT| IN | GR [HDCP| NET =3 [1=Civa K % OUT| IN | GR |[HDCP| NET %
43| 46 | 89 |21.0 68.0 AE 41 WH R 51 | 55 |106 [23.0 |83.0
48 | 46 | 94 |23.0 | 71.0 AE IN*v F345|42 B8 B+ 52 | 57 |109 [26.0 |83.0
50 | 49| 99 |28.0 | 71.0 AE IN®*v k35 |43 ¥R &HRF | 50| 59 109 26.0|83.0
43 | 44 | 87/16.0 71.0 IN*v 36 BG |44 |AK AZE 59 | 55 114 [30.0 |84.0
45 | 43| 88/16.0 72.0 45 B HIFH | 54 | 53 1107 |23.0 |84.0
45 | 44| 89 |17.0 | 72.0 46 %k FH 53 | 53 |106 [22.0 |84.0
51 | 50 |101 |28.0 | 73.0 47 HFH B— 53 | 53 |106 [22.0 |84.0
46 | 50 | 96 |23.0 | 73.0 48 |\ RE KfE 53 | 49 [102 |17.0 | 85.0

9 fBH EHH 46 | 47 | 93 /19.0 | 74.0 49 |EfF wH»Y | 57| 54 |111|25.0 |86.0

10 | AT h— 48 | 43| 91 |16.0 | 75.0 50 AN 52 | 50 |102 |16.0 |86.0

11 R E 48 | 46 | 94 119.0 |75.0 51 1 &F % 52 | 53 /105 |19.0  86.0

12 5 BiE 52 | 51 [103 |27.0 | 76.0 b2 | £P8 &Ex 49 | 54 103 |17.0 |86.0

13 |ZEH MRk 52 | 52 |104 [28.0 | 76.0 53 | &= EBF 54 | 50 [104 [17.0 | 87.0

14 NEF R 46 | 47 | 93 |17.0 | 76.0 54 |gTlh EA 55 | 51 [106 [19.0 | 87.0

15 IREF 50 | 53 [103|27.0 | 76.0 55 /iR 1 52 | 55107 |20.0 87.0

16 Af 1EZE 43| 49 | 92 |16.0 | 76.0 56 |EE thF 54 | 57 |111 |24.0 | 87.0

17 \RER BF | 59| 48 107 (30.0 |77.0 57 1R EF 62 51 [113|25.0 |88.0

18 K¥F HfcF | 56 | 51 107(30.0 | 77.0 58 [ FfE M7 56 | 56 [112 |24.0 |88.0

19 \FxH EF 50 | 46 | 96 {19.0 | 77.0 59 /iR fE— 56 | 57 113 |25.0 1 88.0

20 |#nA O 48 | 52 1100 |23.0 77.0 60 BiF % 52 | 55 107 [19.0 |88.0

21 |FER —3k 45 | 50 | 95|18.0 77.0 61 #K = 50 | 54 |104 |16.0 | 88.0

22 | KJIl B2F 49 | 58 /107 |30.0 77.0 62 | HE IET 55 | 60 |115 [26.0 |89.0

23 /MR T 49 | 46 | 95 |17.0 | 78.0 63 |mHF &HA 61 | 50 111 |20.0 91.0

24 |7EK B2 49 | 49 | 98 20.0 78.0 64 )l BSIE 56 | 54 [110 [19.0 |91.0

25 |/\EF BET 47 | 51| 98 19.0 79.0 65 FBE ik 56 | 58 |114 [23.0 |91.0

26 |=EH EIE 50 | 49 | 99 [19.0 | 80.0 66 G X 55 | 54 109 |17.0 |92.0

21 [fEBE =% 51 | 48 | 99 |18.0 |81.0 67 B HiE 52 | 56 108 |16.0 |92.0

28 |fgE XTI 50 | 50 (100 |19.0 |81.0 68 |1lLlg IFE 57 | 55 (112|19.0 |93.0

29 |5l W— 48 | 49 | 97 /16.0 |81.0 69 LBk M 56 | 60 116 |23.0 | 93.0

30 |RAT fF 47 | 57 |104 |23.0 |81.0 0 Bl 7 58 | 54 (112 |17.0 |95.0

31 | =F M 52 | 49 [101|19.0 |82.0 1 %H BF 59 | 58 117 |21.0 1 96.0

2 AR BT 49 | 50 | 99 |17.0 |82.0 72 \$8AK &7 57 | 58 |115 [18.0 |97.0

33 Bk EX 49 | 50 | 99 /17.0 |82.0 73| EHe 53 | 61 [114|17.0 |97.0

# BE HRE 49 | 51 [100 18.0 |82.0 4 &t &A= 62 66 128 |23.0 |105.0

35 2 1T 49 | 51 |100{18.0 |82.0 aim = A GIF 50 | 43 | 93 |25.0 68.0 [ #IEHN

36 [N EEN 58 | 48 |106 |23.0 |83.0 s LA {5HE 54 | 51 [105 [30.0 75.0 #0170

37 KH & 51 | 49 [100 [17.0 |83.0 atm MEH B2 51 | 50 [101 [21.0 |80.0 |AT[E [2024.6)

38 xR 50 | 51 101 |18.0 |83.0 aum BB &7 47 | 55102 |19.0 |83.0 @150

39 K%k i 51 | 52 /103 |20.0 |83.0 atem PEIR B 44 | 57 |101 |17.0 84.0 |#¥1&M

40 H1 Fx 50 | 52 /102 {19.0 | 83.0 asmEF R 63 | 54 [117 |17.0 |100.0 |B7E] [2024.3]

[(Bif A EIHD C P [BEIRAL]~ Y F> 7% h(I N)



